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                                                     REVISION 

A . Tick (✓) the correct answer : 

1 . The plant consists of mainly 

(a)  Two parts  ✓             (b) three parts            (c) four parts 

2 . An example of a plant having tap root is  

(a)  Onion                          (b) wheat                      (c) neem ✓ 

3 . An example of the plant having fibrous root is  

(a)  Mango                         (b) Peepal                     (c) maize ✓ 

4 . Herbs have a  

(a)  Green stem ✓              (b) brown stem          (c) yellow stem 

5 . They help the plant to breathe through stomata 

(a)  Roots                              (b) leaves ✓               (c) stem 

 

 

                                          HOME WORK 

Do CW in HW . 


